
BIOLOGY

BOOKS - BETOPPERS

HEREDITY & EVOLUTION

Worksheet 1

1. Which of the processes, sexual reproduction

or asexual reproduction, brings about

maximum variations in the o�springs?

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_9ypUG03SM4zx


Watch Video Solution

2. If a trait A exists in 10% of a population of

an asexually reproducing species and a trait B

exists in 60% of the same population, which

trait is likely to have arisen earlier?

Watch Video Solution

3. Mendel said that the characteristics or traits

of organisms are carried from one generation

https://dl.doubtnut.com/l/_9ypUG03SM4zx
https://dl.doubtnut.com/l/_MHT9R6Qocd0u
https://dl.doubtnut.com/l/_zMeRRwvJhZ43


to the next by internal factors which occur in

pairs. What is the modern name for these

factors ?

Watch Video Solution

4. Some plants occur in one of the two sizes :

tall or dwarf. This characteristic is controlled

by one pair of genes. Tallness is dominant to

dwarfness. Choose suitable letters for this

gene pair.

Watch Video Solution

https://dl.doubtnut.com/l/_zMeRRwvJhZ43
https://dl.doubtnut.com/l/_FYS1PbR7Uqok


5. State whether the following statement is

true or false : 

The sex of an infant is not a case of

inheritance of characteristics.

Watch Video Solution

6. A new born child has an XY pair of

chromosomes. Will it be a baby boy or a baby

girl ?

Watch Video Solution

https://dl.doubtnut.com/l/_FYS1PbR7Uqok
https://dl.doubtnut.com/l/_vzywYbpJc0mE
https://dl.doubtnut.com/l/_TYwoDJ9DTQWO


7. what type of plants were used by Mendel for

conducting his experiments on inheritance ?

Watch Video Solution

8. The gene for red hair is recessive to the

gene for black hair. What will be the hair

colour of a person if he inherits a gene for red

hair from his mother and a gene for black hair

from his father ?

https://dl.doubtnut.com/l/_TYwoDJ9DTQWO
https://dl.doubtnut.com/l/_XeR8ZION5MMN
https://dl.doubtnut.com/l/_IVAPEIC2A9PC


Watch Video Solution

9. Fill in the following blanks with suitable

words: 

Genes, always work in ......

Watch Video Solution

10. Fill in the following blanks with suitable

words : 

(a) Genes always work in ................ . 

(b) In pea plants, the gene for dwarfness is

https://dl.doubtnut.com/l/_IVAPEIC2A9PC
https://dl.doubtnut.com/l/_Nr4Xk1sGSmd1
https://dl.doubtnut.com/l/_34LIKI35PB3o


............... Whereas that for tallness is .............. . 

(c) Most people have ............ earlobes but some

have ............... earlobes . 

(d) A human gamete contains ...........

chromosomes whereas a normal body cell has

............... chromosomes in it. 

(d) All races of man have ........... blood groups . 

(f) The .............. chromosomes for a ............. are XX

whereas that for a ............. are XY .

Watch Video Solution

https://dl.doubtnut.com/l/_34LIKI35PB3o


11. Fill in the following blanks with suitable

words: 

Most people have ...................... earlobes but

some have ................... earlobes.

Watch Video Solution

12. Fill in the following blanks with suitable

words : 

(a) Genes always work in ................ . 

(b) In pea plants, the gene for dwarfness is

https://dl.doubtnut.com/l/_osFHtSa6OkL2
https://dl.doubtnut.com/l/_5wszAlMfR0DZ


............... Whereas that for tallness is .............. . 

(c) Most people have ............ earlobes but some

have ............... earlobes . 

(d) A human gamete contains ...........

chromosomes whereas a normal body cell has

............... chromosomes in it. 

(d) All races of man have ........... blood groups . 

(f) The .............. chromosomes for a ............. are XX

whereas that for a ............. are XY .

Watch Video Solution

https://dl.doubtnut.com/l/_5wszAlMfR0DZ


13. Fill in the following blanks with suitable

words: 

All races of man have ....................... blood groups.

Watch Video Solution

14. Fill in the following blanks with suitable

words : 

(a) Genes always work in ................ . 

(b) In pea plants, the gene for dwarfness is

............... Whereas that for tallness is .............. . 

https://dl.doubtnut.com/l/_36orhfaQ0O9f
https://dl.doubtnut.com/l/_cP0A7y5KzEqc


(c) Most people have ............ earlobes but some

have ............... earlobes . 

(d) A human gamete contains ...........

chromosomes whereas a normal body cell has

............... chromosomes in it. 

(d) All races of man have ........... blood groups . 

(f) The .............. chromosomes for a ............. are XX

whereas that for a ............. are XY .

Watch Video Solution

https://dl.doubtnut.com/l/_cP0A7y5KzEqc


15. Which of the following represent tall plants

and which represent short plants (or dwarf

plants)? 

(a) Tt (b) tt (c) TT

Watch Video Solution

16. A man having blood group O marries a

woman having blood group B and they have a

daughter. What will be the blood group of the

daughter ?

https://dl.doubtnut.com/l/_bleb0gyNnYxP
https://dl.doubtnut.com/l/_4Mnv7CLUK6Im


Watch Video Solution

17. In the  generation of a cross, progeny

having di�erent traits are produced in the

ratio 3 : 1 . State whether it is a monohybrid

cross or a dihybrid cross ? Give one example of

such a cross.

Watch Video Solution

F2

18. (a) what is the genotype of dwarf plants

which always produced dwarf o�spring ? 

https://dl.doubtnut.com/l/_4Mnv7CLUK6Im
https://dl.doubtnut.com/l/_Y6sKpWasksxg
https://dl.doubtnut.com/l/_NzSHLkbWMwuP


(b) What is the genotype of tall plants which

always produced tall o�spring ? 

(c) What is the genotype of (i) dwarf plants ,

and (ii) tall plants, whose parental cross

always produces tall o�spring ?

Watch Video Solution

19. (a) what is the genotype of dwarf plants

which always produced dwarf o�spring ? 

(b) What is the genotype of tall plants which

always produced tall o�spring ? 

https://dl.doubtnut.com/l/_NzSHLkbWMwuP
https://dl.doubtnut.com/l/_JrPIQnwKrlqy


(c) What is the genotype of (i) dwarf plants ,

and (ii) tall plants, whose parental cross

always produces tall o�spring ?

Watch Video Solution

20. (a) what is the genotype of dwarf plants

which always produced dwarf o�spring ? 

(b) What is the genotype of tall plants which

always produced tall o�spring ? 

(c) What is the genotype of (i) dwarf plants ,

https://dl.doubtnut.com/l/_JrPIQnwKrlqy
https://dl.doubtnut.com/l/_n01kWtXuqAox


and (ii) tall plants, whose parental cross

always produces tall o�spring ?

Watch Video Solution

21. (a) If a normal human cell has 46

chromosomes, how many chromosomes will

be there in a human (i) sperm cell, and (ii)

zygote ? 

(b) What sizes of plants are produced if both

parents have genes Tt ?

Watch Video Solution

https://dl.doubtnut.com/l/_n01kWtXuqAox
https://dl.doubtnut.com/l/_A1vUnieVkJV2


22. (a) If a normal human cell has 46

chromosomes, how many chromosomes will

be there in a human (i) sperm cell, and (ii)

zygote ? 

(b) What sizes of plants are produced if both

parents have genes Tt ?

Watch Video Solution

23. In a human, how many chromosmes are

present in : 

https://dl.doubtnut.com/l/_A1vUnieVkJV2
https://dl.doubtnut.com/l/_8JCGDFOafj0z
https://dl.doubtnut.com/l/_IWV9aqlB2tii


a brain cell ?

Watch Video Solution

24. In a human, how many chromosomes are

present in : 

(a) a brain cell ? 

(b) a sperm in the testes ? 

(c) an egg which has just been produced by

the ovary ? 

(d) a skin cell ? 

(e) a fertilised egg ?

https://dl.doubtnut.com/l/_IWV9aqlB2tii
https://dl.doubtnut.com/l/_WieKzXlFpaX7


Watch Video Solution

25. In a human, how many chromosomes are

present in : 

(a) a brain cell ? 

(b) a sperm in the testes ? 

(c) an egg which has just been produced by

the ovary ? 

(d) a skin cell ? 

(e) a fertilised egg ?

Watch Video Solution

https://dl.doubtnut.com/l/_WieKzXlFpaX7
https://dl.doubtnut.com/l/_poAyNQjz6XPq
https://dl.doubtnut.com/l/_JAmzLSBjFiD5


26. In a human, how many chromosomes are

present in : 

(a) a brain cell ? 

(b) a sperm in the testes ? 

(c) an egg which has just been produced by

the ovary ? 

(d) a skin cell ? 

(e) a fertilised egg ?

Watch Video Solution

https://dl.doubtnut.com/l/_JAmzLSBjFiD5


27. In a human, how many chromosomes are

present in : 

(a) a brain cell ? 

(b) a sperm in the testes ? 

(c) an egg which has just been produced by

the ovary ? 

(d) a skin cell ? 

(e) a fertilised egg ?

Watch Video Solution

https://dl.doubtnut.com/l/_sLfVefQV9pDD


28. Mendel said that the characteristics or

traits of organisms are carried from one

generation to the next by internal factors

which occur in pairs. What is the modern

name for these factors ?

Watch Video Solution

29. Gregor Mendel's �rst law of genetics states

"Of a pair of contrasted characters, olny one

can be represented in a gamete by its internal

https://dl.doubtnut.com/l/_sLp446xbtKXZ
https://dl.doubtnut.com/l/_5hfogdotlXFl


'factor'. 

(b) State where these factors are found in

gametes.

Watch Video Solution

30. Does genetic combination of mother play a

signi�cant role in determining the of a new

born baby ?

Watch Video Solution

https://dl.doubtnut.com/l/_5hfogdotlXFl
https://dl.doubtnut.com/l/_sSgbDFShSytT


31. Given the pair of contrasting traits of the

following characters in pea plants and

mention which is dominant and recessive .

(i) yellow seed (ii) round seed.

Watch Video Solution

32. Given the pair of contrasting traits of the

following characters in pea plants and

mention which is dominant and recessive .

(i) yellow seed (ii) round seed.

https://dl.doubtnut.com/l/_XCc8X8lF8Jvi
https://dl.doubtnut.com/l/_CLRPvUJMVZCz


Watch Video Solution

33. When two parents are crossed , the

o�spring are referred to as :

A. recessives

B. test cross

C. generation

D.  generation

Answer:

Watch Video Solution

F2

F2

https://dl.doubtnut.com/l/_CLRPvUJMVZCz
https://dl.doubtnut.com/l/_krc10HEVCrdB


34. A cross between two individuals results in

a ratio of 9 : 3 : 3 : 1 for four possible

phenotypes of progeny. This is an example of a

:

A. dihybrid cross

B. monohybrid cross

C. test cross

D. none of these

Answer:

https://dl.doubtnut.com/l/_krc10HEVCrdB
https://dl.doubtnut.com/l/_QWMYjzVk4QbN


Watch Video Solution

35. For his experiments on heredity, Mendel

used :

A. papaya plants

B. potato plants

C. pea plants

D. pear plants

Answer:

https://dl.doubtnut.com/l/_QWMYjzVk4QbN
https://dl.doubtnut.com/l/_bsDQfoDjj1eG


Watch Video Solution

36. The human animal which has an XY pair of

chromosomes is called :

A. male

B. hybrid

C. female

D. doomed

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_bsDQfoDjj1eG
https://dl.doubtnut.com/l/_HIGd21cbv7CA


37. The science of heredity is known as :

A. biology

B. embryology

C. genetics

D. biochemistry

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_HIGd21cbv7CA
https://dl.doubtnut.com/l/_1TkEkmttI3Cq
https://dl.doubtnut.com/l/_hWKe84Ur0iXy


38. A gene is a :

A. hybrid

B. heritable trait

C. pure breed

D. part of a chromosome that transmits a

trait

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_hWKe84Ur0iXy


39. A normal cell of human body contains 23

pairs of chromosomes. The number of

chromosomes in a sex cell (sperm or ovum) of

a human being is most likely to be :

A. 46

B. 23

C. 21

D. 42

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_WvPQa0l3rcSp


Watch Video Solution

40. In order to ensure that he had pure-

breeding plants for his experiments, Mendel :

A. cross-fertilised each variety with each

other

B. let each variety self fertilise for several

generations

C. removed the female parts of the plants

D. removed the male parts of the plants

https://dl.doubtnut.com/l/_WvPQa0l3rcSp
https://dl.doubtnut.com/l/_NHIbUljUVJp7


Answer:

Watch Video Solution

41. In the human blood grouping, the four

basic blood types are type A, typeB, typeAB,

and type O. The blood proteins A and B are :

A. simple dominant and recessive traits

B. incomplete dominant traits

C. codominant traits

D. sex-linked traits

https://dl.doubtnut.com/l/_NHIbUljUVJp7
https://dl.doubtnut.com/l/_MeBWpbkzYcPY


Answer:

Watch Video Solution

42. A plant with two 'small' genes breeds with

a plant with two 'tall' genes to produce :

A. small plants and tall plants in the ratio

1:3

B. all small plants

C. all tall plants

https://dl.doubtnut.com/l/_MeBWpbkzYcPY
https://dl.doubtnut.com/l/_inZn0lyEm6wq


D. tall plants and small plants in the ratio

3:1

Answer:

Watch Video Solution

43. A pregnant woman has an equal chance of

her baby being blood group A or blood group

AB. Which one of the following shows the

possible genotypes of the woman and the

father of her child ?

https://dl.doubtnut.com/l/_inZn0lyEm6wq
https://dl.doubtnut.com/l/_sRyWhWg10ccT


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution
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44. The palisade cells of a species of plants

contain 28 chromosomes. How many

https://dl.doubtnut.com/l/_sRyWhWg10ccT
https://dl.doubtnut.com/l/_RGzgFPeKsSS0


chromosomes will there be in each gamete

produced by the plant ?

A. 56

B. 28

C. 14

D. 4

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_RGzgFPeKsSS0


45. The sex of a child is determined by which

of the following ?

A. the length of the mother's pregnancy

B. the length of time between ovulation

and copulation

C. the presence of an X chromosome in an

ovum

D. the presence of a Y chromosome in a

sperm

https://dl.doubtnut.com/l/_EQYppdl08gZI


Answer:

Watch Video Solution

46. A zygote which has inherited an X

chromosome from the father will develop into

:

A. baby boy

B. baby girl

C. adult

D. either boy or girl

https://dl.doubtnut.com/l/_EQYppdl08gZI
https://dl.doubtnut.com/l/_v3v1zBblQKdu


Answer:

Watch Video Solution

47. Which of the following statement is

incorrect?

A. for every hormone there is a gene

B. for every protein there is a gene

C. for production of every enzyme there is

a gene

https://dl.doubtnut.com/l/_v3v1zBblQKdu
https://dl.doubtnut.com/l/_flPyZJfNUIfU


D. for every protein there is a gene

Answer: A

Watch Video Solution

48. If the ratio of each phenotype of the seeds

of pea plants in the  generation is 9 : 3 : 3 :

1, it is known as :

A. tetrahybrid ratio

B. monohybrid ratio

F2

https://dl.doubtnut.com/l/_flPyZJfNUIfU
https://dl.doubtnut.com/l/_6lJkyHIKy5SO


C. dihybrid ratio

D. trihybrid ratio

Answer:

Watch Video Solution

49. In humans, if gene B gives brown eyes and

gene b gives blue eyes. What will be the colour

of eyes of the persons having the following

combination of genes ? 

(a) Bb (b) bb (c) BB

https://dl.doubtnut.com/l/_6lJkyHIKy5SO
https://dl.doubtnut.com/l/_FaknMshDRq7T


A. Bb

B. bb

C. BB

D. None of thse

Answer:

Watch Video Solution

50. Pure-bred pea plants A are crossed with

pure-bred pea plants B. It is found that the

plants which look like A do not appear in F1

https://dl.doubtnut.com/l/_FaknMshDRq7T
https://dl.doubtnut.com/l/_wUAM0XKnSm87


generation but re-emerge in  generation.

Which of the plants A and B are : (i) tall, and

(ii) dwarf ? Give reason for your answer .

Watch Video Solution

F2

51. Pure-breed tall pea plants are �rst crossed

with pure-bred dwarf pea plants. The pea

plants obtained in  generation are then

cross-bred to produce  generation of pea

plants. 

(i) What do the plants of  generation look

F1

F2

F1

https://dl.doubtnut.com/l/_wUAM0XKnSm87
https://dl.doubtnut.com/l/_yFLJd9glVXcj


like ? 

(b) What is the ratio of all plants to dwarf

plants in  generation ?  

(c) Which type of plants were missing in 

generation but reappeared in  generation ?

Watch Video Solution

F2

F1

F2

52. Pure-breed tall pea plants are �rst crossed

with pure-bred dwarf pea plants. The pea

plants obtained in  generation are then

cross-bred to produce  generation of pea

F1

F2

https://dl.doubtnut.com/l/_yFLJd9glVXcj
https://dl.doubtnut.com/l/_yV10GXaMilkg


plants. 

(i) What do the plants of  generation look

like ? 

(b) What is the ratio of all plants to dwarf

plants in  generation ?  

(c) Which type of plants were missing in 

generation but reappeared in  generation ?

Watch Video Solution

F1

F2

F1

F2

53. Pure-breed tall pea plants are �rst crossed

with pure-bred dwarf pea plants. The pea

https://dl.doubtnut.com/l/_yV10GXaMilkg
https://dl.doubtnut.com/l/_EOhUpZek1efd


plants obtained in  generation are then

cross-bred to produce  generation of pea

plants. 

(i) What do the plants of  generation look

like ? 

(b) What is the ratio of all plants to dwarf

plants in  generation ?  

(c) Which type of plants were missing in 

generation but reappeared in  generation ?

Watch Video Solution

F1

F2

F1

F2

F1

F2

https://dl.doubtnut.com/l/_EOhUpZek1efd


54. A plant has two varieties, one with red

petals and the other with white petals. When

these two varieties are cross-pollinated, all the

o�springs have red petals ? 

(a) Which gene is dominant ? 

(b) Choose suitable letters to represent the

two genes.

Watch Video Solution

https://dl.doubtnut.com/l/_jqmzf9S2Rn1L


55. A plant has two varieties, one with red

petals and the other with white petals. When

these two varieties are cross-pollinated, all the

o�springs have red petals ? 

(a) Which gene is dominant ? 

(b) Choose suitable letters to represent the

two genes.

Watch Video Solution

https://dl.doubtnut.com/l/_S0Wj6owqrRMI


56. A red-haired woman marries a brown-

haired man, and all the children are brown

haired. Explain this genetically.

Watch Video Solution

57. A black mouse mates with a brown mouse,

and all the o�springs are back. 

(a) Why are no brown o�springs produced ? 

(b) If two of the black o�psrings mate with

each other what kind of o�spring would you

https://dl.doubtnut.com/l/_TtNZJlOJB2tx
https://dl.doubtnut.com/l/_NvN4FN3zgjgA


expect and in what proportions ? Give reason

for your answer.

Watch Video Solution

58. A black mouse mates with a brown mouse,

and all the o�springs are back. 

(a) Why are no brown o�springs produced ? 

(b) If two of the black o�psrings mate with

each other what kind of o�spring would you

expect and in what proportions ? Give reason

for your answer.

https://dl.doubtnut.com/l/_NvN4FN3zgjgA
https://dl.doubtnut.com/l/_hKn151ZEkYe5


Watch Video Solution

59. (a) E is the gene for brown eye colour and e

is the gene for blue eye colour. Which gene is

(i) recessive, and (ii) dominant ? 

(b) Both father and mother have the genes Ee

in their cells. What colour are their eyes ? 

(c) Which combination of genes in the zygote

will produce children with blue eyes ? 

(d) Which combinations of genes in the zygote

will produce children with brown eyes ?

Watch Video Solution

https://dl.doubtnut.com/l/_hKn151ZEkYe5
https://dl.doubtnut.com/l/_ZiLrIk3rF1PD


60. (a) E is the gene for brown eye colour and

e is the gene for blue eye colour. Which gene

is (i) recessive, and (ii) dominant ? 

(b) Both father and mother have the genes Ee

in their cells. What colour are their eyes ? 

(c) Which combination of genes in the zygote

will produce children with blue eyes ? 

(d) Which combinations of genes in the zygote

will produce children with brown eyes ?

Watch Video Solution

https://dl.doubtnut.com/l/_ZiLrIk3rF1PD
https://dl.doubtnut.com/l/_TDExv43FIOYO


61. Which combination of genes in the zygote

will produce children with blue eyes?

Watch Video Solution

62. (a) E is the gene for brown eye colour and e

is the gene for blue eye colour. Which gene is

(i) recessive, and (ii) dominant ? 

(b) Both father and mother have the genes Ee

in their cells. What colour are their eyes ? 

(c) Which combination of genes in the zygote

https://dl.doubtnut.com/l/_WA9SoHgSrjmu
https://dl.doubtnut.com/l/_YtSVW3VO3qVt


will produce children with blue eyes ? 

(d) Which combinations of genes in the zygote

will produce children with brown eyes ?

Watch Video Solution

63. What are the possible blood groups likely

to be inherited by children born to a group A

mother and a group B father ? Explain your

reasoning.

Watch Video Solution

https://dl.doubtnut.com/l/_YtSVW3VO3qVt
https://dl.doubtnut.com/l/_jgUYe7rJRiEt
https://dl.doubtnut.com/l/_Dny0Lf6wz13A


64. A couple with a newborn baby is troubled

that the child does not resemble either of

them. Suspecting that a mixup occurred at the

hospital, they check the blood type of the

infant. It is type O. Because the father is type A

and the mother type B, they conclude that a

mixup has de�nitly occurred. Are they correct ?

Give reason for your answer.

Watch Video Solution

https://dl.doubtnut.com/l/_Dny0Lf6wz13A


65. A man with blood group A marries a

woman with blood group O and their

daughter has blood group O. Is this

information enough to tell you which of the

traits – blood group A or O – is dominant?

Why or why not?

Watch Video Solution

66. A Mendelian experiment consisted of

breeding tall pea plants bearing violet �owers

https://dl.doubtnut.com/l/_Z3QwIuFn5HBD
https://dl.doubtnut.com/l/_3OqGllQgmCHX


Worksheet 2

with short pea plants bearing white �owers.

The progeny all bore violet �owers, but almost

half of them were short. This suggested that

the genetic make up (or genotype ) of the tall

parent can be depicted as: 

(a) TTWW (6) TTww(c) TtWW (d) TtWw

Give season for your choice.

Watch Video Solution

https://dl.doubtnut.com/l/_3OqGllQgmCHX


1. What name is given to the sequence of

gradual changes over millions of years in

which new species are produced ?

Watch Video Solution

2. State whether the following statement is

true or false : 

Human beings have evolved from

chimpanzees.

Watch Video Solution

https://dl.doubtnut.com/l/_IRNdM4ZACbar
https://dl.doubtnut.com/l/_sWl41somjWXX


3. The forelimbs of a frog, a bird and a man

show the same basic design (or basic

structure) of bones. What name is given to

such organs ?

Watch Video Solution

4. Out of the wing of a bird, wing of an insect

and the wing of a bat: 

which two are homologous organs ?

Watch Video Solution

https://dl.doubtnut.com/l/_sWl41somjWXX
https://dl.doubtnut.com/l/_VJplFaoYnJHX
https://dl.doubtnut.com/l/_bJM01qqJQFaH


5. Out of the wing of a bird, wing of an insect

and the wing of a bat: 

which two are analogous organs?

Watch Video Solution

6. Choose the one term from the following

which includes the other three : 

broccoli, wild cabbage, cauli�ower, cabbage

Watch Video Solution

https://dl.doubtnut.com/l/_bJM01qqJQFaH
https://dl.doubtnut.com/l/_01J9yU41LJkq
https://dl.doubtnut.com/l/_3JFnsoJLIxLA


7. Fill in the following blanks with suitable

words: 

The human forelimb and bat's forelimb are an

example of organs whereas an insect's wing

and a bat's wing are an example of organs.

Watch Video Solution

8. Fill in the following blanks with suitable

words: 

https://dl.doubtnut.com/l/_3JFnsoJLIxLA
https://dl.doubtnut.com/l/_O6JNWCimWoJB
https://dl.doubtnut.com/l/_EHFj3lrJaIz1


The evolution of eye is an example of

evolution by __________

Watch Video Solution

9. Fill in the following blanks with suitable

words: 

The scienti�c name of all human beings is

_________

Watch Video Solution

https://dl.doubtnut.com/l/_EHFj3lrJaIz1
https://dl.doubtnut.com/l/_wx1Z5inKlJ86


10. Fill in the following blanks with suitable

words: 

Broccoli has evolved from by the process of

arti�cial selection _________

Watch Video Solution

11. Fill in the following blanks with suitable

words: 

The theory of natural selection for evolution

was proposed by _________

https://dl.doubtnut.com/l/_qFog993r8y84
https://dl.doubtnut.com/l/_6UNYM6Qhx7Ml


Watch Video Solution

12. Match the terms given in column I with

those given in column II : 

Watch Video Solution

13. In evolutionary terms, we have more in

common with

https://dl.doubtnut.com/l/_6UNYM6Qhx7Ml
https://dl.doubtnut.com/l/_HhtlK3aubKrX
https://dl.doubtnut.com/l/_AXTHxhASmH45


A. a Chinese school boy

B. a chimpanzee

C. a spider

D. a bacterium

Answer:

Watch Video Solution

14. The human species has genetic roots in :

A. America

https://dl.doubtnut.com/l/_AXTHxhASmH45
https://dl.doubtnut.com/l/_JY0bcEHQBvou


B. Africa

C. Australia

D. Antarctica

Answer:

Watch Video Solution

15. Which of the following gas was not present

in early earth atmosphere ?

A. Ammonia

https://dl.doubtnut.com/l/_JY0bcEHQBvou
https://dl.doubtnut.com/l/_qrUg9lXAPsZK


B. Oxygen

C. Hydrogen sulphide

D. Methane

Answer:

Watch Video Solution

16. A gradual change, over a long period, in a

form of life is known as :

A. erosion

https://dl.doubtnut.com/l/_qrUg9lXAPsZK
https://dl.doubtnut.com/l/_zN1Hna5xHUCa


B. evolution

C. revolution

D. evaluation

Answer:

Watch Video Solution

17. Scientists believe that all life originated in :

A. the sea

B. the soil

https://dl.doubtnut.com/l/_zN1Hna5xHUCa
https://dl.doubtnut.com/l/_dNKhGqiNt3gr


C. the ground

D. the air

Answer:

Watch Video Solution

18. According to scientists, aves have evolved

from :

A. mammals

B. amphibians

https://dl.doubtnut.com/l/_dNKhGqiNt3gr
https://dl.doubtnut.com/l/_cX91i3XmHmUy


C. reptiles

D. arthropods

Answer:

Watch Video Solution

19. The theory of evolution of species by

natural selection was given by

A. Mendel

B. Darwin

https://dl.doubtnut.com/l/_cX91i3XmHmUy
https://dl.doubtnut.com/l/_QdfjbnD34rql


C. Dalton

D. Lamarck

Answer:

Watch Video Solution

20. The term 'father of genetics' is used for the

scientist :

A. Morgan

B. Mendel

https://dl.doubtnut.com/l/_QdfjbnD34rql
https://dl.doubtnut.com/l/_alhVAo2xDtLu


C. Darwin

D. Marie Curie

Answer:

Watch Video Solution

21. One of the following traits cannot be

inherited. This one is :

A. colour of eyes

B. colour of skin

https://dl.doubtnut.com/l/_alhVAo2xDtLu
https://dl.doubtnut.com/l/_3sCTaTCJcLzM


C. size of body

D. nature of hair

Answer:

Watch Video Solution

22. Only one of the following characteristic of

the parents can be inherited by their childern.

This one is :

A. deep scar on chin

https://dl.doubtnut.com/l/_3sCTaTCJcLzM
https://dl.doubtnut.com/l/_AbRud0VSAGq4


B. snub nose

C. technique of swimming

D. cut nose

Answer:

Watch Video Solution

23. Which of the following statement is

incorrect with respect to variations ?

https://dl.doubtnut.com/l/_AbRud0VSAGq4
https://dl.doubtnut.com/l/_J2JN9cL74bj3


A. all variations in a species have equal

chance of survival

B. change in genetic composition results in

variations

C. selection of variations by environmental

factors forms the basis of evolutionary

process

D. variations are the minimum in asexual

reproduction

Answer:

https://dl.doubtnut.com/l/_J2JN9cL74bj3


Watch Video Solution

24. One of the following traits of the parents

cannot be passed on to their future

generations. This trait is :

A. cleft chin

B. pointed chin

C. scarred chin

D. broad chin

Answer:

https://dl.doubtnut.com/l/_J2JN9cL74bj3
https://dl.doubtnut.com/l/_PuQFL1lhyz5C


Watch Video Solution

25. Some dinosaurs had feathers although

they could not �y but birds have feathers that

help them to �y. In the context of evolution,

this means that :

A. reptiles have evolved from birds

B. there is no evolutionary connection

between reptiles and birds

https://dl.doubtnut.com/l/_PuQFL1lhyz5C
https://dl.doubtnut.com/l/_PyeS60w5fko5


C. feathers are homologous structures in

both the organisms

D. birds have evolved from reptiles

Answer:

Watch Video Solution

26. Select the incorrect statement from the

following:

https://dl.doubtnut.com/l/_PyeS60w5fko5
https://dl.doubtnut.com/l/_YzWbrIhhUMpC


A. frequency of certain genes in a

population changes over several

generations resulting in evolution

B. reduction in the weight of an organism

due to starvation is genetically

controlled

C. low weight parents can have heavy

weight progeny

D. traits which are not inherited over

generations do not cause evolution,

https://dl.doubtnut.com/l/_YzWbrIhhUMpC


Answer:

Watch Video Solution

27. New species may be formed if : 

(i) DNA undergoes signi�cant changes in germ

cells 

(ii) chromosome number changes in the

gamete 

(iii) there is no change in the genetic material 

(iv) mating does not take place

https://dl.doubtnut.com/l/_YzWbrIhhUMpC
https://dl.doubtnut.com/l/_XucIrhsqgevi


A. (i) and (ii)

B. (i) and (iii)

C. (ii), (iii) and (iv)

D. (i), (ii) and (iii)

Answer:

Watch Video Solution

28. According to the evolutionary theory,

formation of a new species is generally due to.

https://dl.doubtnut.com/l/_XucIrhsqgevi
https://dl.doubtnut.com/l/_YjIJBx64WqMs


A. sudden creation by nature

B. accumulation of variations over several

generations

C. clones formed during asexual

reproduction

D. movement of individuals from one

habitat to another.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_YjIJBx64WqMs
https://dl.doubtnut.com/l/_ijJbfrvDZJuD


29. Some of the important fossils which have

been studied are those of organisms X, Y and

Z. X were marine arthropods which were

common between 400 to 600 million years

ago. Y were the invertebrate animals

(molluscs) with a �at, coiled, spiral shell which

lived in the sea about 180 million years ago. Z

are the extinct carnivorous or herbivorous

reptiles which appeared on the earth about

250 million years ago and became extinct

about 65 million years ago. What are X, Y and

Z?

https://dl.doubtnut.com/l/_ijJbfrvDZJuD


Watch Video Solution

30. The farmers have been cultivating a food

plant X for over two thousand years and have

produced as many as �ve entirely di�erent

looking vegetables A, B, C, D and E from it. 

(a) What could the plant X be ? 

(b) What are A, B, C, D and E 

(c) What is the process of evolution involved in

this example known as ?

Watch Video Solution

https://dl.doubtnut.com/l/_ijJbfrvDZJuD
https://dl.doubtnut.com/l/_UM6js3DEaQqC


31. The farmers have been cultivating a food

plant X for over two thousand years and have

produced as many as �ve entirely di�erent

looking vegetables A, B, C, D and E from it. 

(a) What could the plant X be ? 

(b) What are A, B, C, D and E 

(c) What is the process of evolution involved in

this example known as ?

Watch Video Solution

https://dl.doubtnut.com/l/_7GImcR7JwjY7


32. The farmers have been cultivating a food

plant X for over two thousand years and have

produced as many as �ve entirely di�erent

looking vegetables A, B, C, D and E from it. 

(a) What could the plant X be ? 

(b) What are A, B, C, D and E 

(c) What is the process of evolution involved in

this example known as ?

Watch Video Solution

https://dl.doubtnut.com/l/_kcaagMR72nEL


33. There are �ve animals A, B, C, D and E. The

animal A uses its modi�ed forelimbs for �ying.

The animal Buses its forelimbs for running

whereas the animal C uses its forelimbs for

grasping. The animal D can live on land as well

as in water and uses its forelimbs to prop up

the front end of its body when at rest. The

animal E which respires by using spiracles and

tracheae uses wings for �ying but its wings

are analogous to the modi�ed forelimbs of

animal A. 

What could the animals A, B, C, D and E be?

https://dl.doubtnut.com/l/_IXdu7wGKWB3u


Watch Video Solution

34. There are �ve animals A, B, C, D and E. The

animal A uses its modi�ed forelimbs for �ying.

The animal Buses its forelimbs for running

whereas the animal C uses its forelimbs for

grasping. The animal D can live on land as well

as in water and uses its forelimbs to prop up

the front end of its body when at rest. The

animal E which respires by using spiracles and

tracheae uses wings for �ying but its wings

are analogous to the modi�ed forelimbs of

https://dl.doubtnut.com/l/_IXdu7wGKWB3u
https://dl.doubtnut.com/l/_czchaT8zpvdY


animal A. 

Why are the forelimbs of animals A, B, C and D

called homologous organs ?

Watch Video Solution

35. There are �ve animals A, B, C, D and E. The

animal A uses its modi�ed forelimbs for �ying.

The animal Buses its forelimbs for running

whereas the animal C uses its forelimbs for

grasping. The animal D can live on land as well

as in water and uses its forelimbs to prop up

https://dl.doubtnut.com/l/_czchaT8zpvdY
https://dl.doubtnut.com/l/_EGU4s2w7zf0a


the front end of its body when at rest. The

animal E which respires by using spiracles and

tracheae uses wings for �ying but its wings

are analogous to the modi�ed forelimbs of

animal A. 

What does the existence of homologous

organs in animals A, B, C and D tell us about

their ancestors?

Watch Video Solution

https://dl.doubtnut.com/l/_EGU4s2w7zf0a


36. There are �ve animals A, B, C, D and E. The

animal A uses its modi�ed forelimbs for �ying.

The animal Buses its forelimbs for running

whereas the animal C uses its forelimbs for

grasping. The animal D can live on land as well

as in water and uses its forelimbs to prop up

the front end of its body when at rest. The

animal E which respires by using spiracles and

tracheae uses wings for �ying but its wings

are analogous to the modi�ed forelimbs of

animal A. 

Why are the modi�ed forelimbs of animal A

https://dl.doubtnut.com/l/_KwTs6Kz372xF


and the wings of animal E called analogous

organs ?

Watch Video Solution

37. There are �ve animals A, B, C, D and E. The

animal A uses its modi�ed forelimbs for �ying.

The animal Buses its forelimbs for running

whereas the animal C uses its forelimbs for

grasping. The animal D can live on land as well

as in water and uses its forelimbs to prop up

the front end of its body when at rest. The

https://dl.doubtnut.com/l/_KwTs6Kz372xF
https://dl.doubtnut.com/l/_CzCJeaaeYNdo


animal E which respires by using spiracles and

tracheae uses wings for �ying but its wings

are analogous to the modi�ed forelimbs of

animal A. 

State whether animals A and E have a common

ancestor or not.

Watch Video Solution

38. X, Y, and Z are three animals. The animal X

can �y but animal Y can only run on ground or

walls. The forelimbs of animals X and Y have

https://dl.doubtnut.com/l/_CzCJeaaeYNdo
https://dl.doubtnut.com/l/_tZrdw4nFydZe


the same basic design but they are used for

di�erent purposes such as �ying and running

respectively. The animal Z became extinct a

long time ago. The study of fossils of Z tells us

that it had some features like those of X and

some like those of y. In fact, Z is said to form a

connecting link in the evolutionary chain of X

and Y. 

What could the animals X, Y and Z be?

Watch Video Solution

https://dl.doubtnut.com/l/_tZrdw4nFydZe


39. X, Y, and Z are three animals. The animal X

can �y but animal Y can only run on ground or

walls. The forelimbs of animals X and Y have

the same basic design but they are used for

di�erent purposes such as �ying and running

respectively. The animal Z became extinct a

long time ago. The study of fossils of Z tells us

that it had some features like those of X and

some like those of y. In fact, Z is said to form a

connecting link in the evolutionary chain of X

and Y. 

What name is given to the forelimbs like those

https://dl.doubtnut.com/l/_VBSetQNdRrgC


of X and Y which have the same basic design

but di�erent functions ?

Watch Video Solution

40. X, Y, and Z are three animals. The animal X

can �y but animal Y can only run on ground or

walls. The forelimbs of animals X and Y have

the same basic design but they are used for

di�erent purposes such as �ying and running

respectively. The animal Z became extinct a

long time ago. The study of fossils of Z tells us

https://dl.doubtnut.com/l/_VBSetQNdRrgC
https://dl.doubtnut.com/l/_VsUQ4vwBn17t


that it had some features like those of X and

some like those of y. In fact, Z is said to form a

connecting link in the evolutionary chain of X

and Y. 

Name one feature in which Z resembled X.

Watch Video Solution

41. X, Y, and Z are three animals. The animal X

can �y but animal Y can only run on ground or

walls. The forelimbs of animals X and Y have

the same basic design but they are used for

https://dl.doubtnut.com/l/_VsUQ4vwBn17t
https://dl.doubtnut.com/l/_bP2QfvcQYiaE


di�erent purposes such as �ying and running

respectively. The animal Z became extinct a

long time ago. The study of fossils of Z tells us

that it had some features like those of X and

some like those of y. In fact, Z is said to form a

connecting link in the evolutionary chain of X

and Y. 

Name one feature in which Z resembled Y.

Watch Video Solution

https://dl.doubtnut.com/l/_bP2QfvcQYiaE


42. X, Y, and Z are three animals. The animal X

can �y but animal Y can only run on ground or

walls. The forelimbs of animals X and Y have

the same basic design but they are used for

di�erent purposes such as �ying and running

respectively. The animal Z became extinct a

long time ago. The study of fossils of Z tells us

that it had some features like those of X and

some like those of y. In fact, Z is said to form a

connecting link in the evolutionary chain of X

and Y. 

Which is the correct evolutionary chain

https://dl.doubtnut.com/l/_KK6LCRWysn3g


involving 

?

Watch Video Solution

X, Y and Z : X → Z → Y or Y → Z → X

43. A population of red beetles lives in green

bushes in a garden. Once during the process

of breeding, a green beetle is produced. 

State whether the change in colour of beetle

is a process of evolution or not.

Watch Video Solution

https://dl.doubtnut.com/l/_KK6LCRWysn3g
https://dl.doubtnut.com/l/_cddA73jJCcEl


44. A population of red beetles lives in green

bushes in a garden. Once during the process

of breeding, a green beetle is produced. 

Can the new colour of green beetle be passed

on to its next generations ?

Watch Video Solution

45. A population of red beetles lives in green

bushes in a garden. Once during the process

of breeding, a green beetle is produced. 

https://dl.doubtnut.com/l/_cddA73jJCcEl
https://dl.doubtnut.com/l/_rYUIgFPfMOSC
https://dl.doubtnut.com/l/_I9FtbfDIa7ys


What will be the advantage (if any) of the

green colour to the beetle ?

Watch Video Solution

46. A population of red beetles lives in green

bushes in a garden. Once during the process

of breeding, a green beetle is produced. 

State whether the production of green colour

involved a change in genetic material or not.

Watch Video Solution

https://dl.doubtnut.com/l/_I9FtbfDIa7ys
https://dl.doubtnut.com/l/_kKUT5QjayydP


Competitive Worksheet

1. Which of the following may be used to

obtain an  generation ?

A. allowing �owers on a parent plant to be

self-pollinated

B. allowing �owers on an Fi plant to be self-

pollinated

C. cross-pollinating an F! plant with a

parent plant

F2

https://dl.doubtnut.com/l/_FCtfqmmtSAff


D. cross-pollinating two parent plants

Answer:

Watch Video Solution

2. Thed following results were obtained by a

scientist who crossed the  generation of

pure-breeding parents for round and wrinkled

seeds. 

Dominant trait Recissive trait No. of 

o�spring 

F1

F2

https://dl.doubtnut.com/l/_FCtfqmmtSAff
https://dl.doubtnut.com/l/_s8EvfjZJsN4r


Round seeds Wrinkled seeds 7524 

From these results, it can be concluded that

the actual number of round seeds he obtained

was :

A. 1881

B. 22572

C. 2508

D. 5643

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_s8EvfjZJsN4r


3. The visible characteristic in an organism is

known as :

A. prototype

B. stereotype

C. phenotype

D. genotype

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_s8EvfjZJsN4r
https://dl.doubtnut.com/l/_k8rmy1Bdr8sW
https://dl.doubtnut.com/l/_FHqJEb30RRgZ


4. Exchange of genetic material takes place in

A. vegetative reproduction

B. asexual reproduction

C. sexual reproduction

D. budding

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_FHqJEb30RRgZ


5. A cross between a tall plant (TT) and short

pea plant (tt) resulted in progeny that were all

tall plants because

A. tallness is the dominant trait

B. shortness is the dominant trait

C. tallness is the recessive trait

D. height of plant is not governed by gene

T or t

Answer:

W h Vid S l i

https://dl.doubtnut.com/l/_sndQNLQBSr2S


Watch Video Solution

6. The number of pair(s) of sex chromosomes

in the zygote of humans is

A. one

B. two

C. three

D. four

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_sndQNLQBSr2S
https://dl.doubtnut.com/l/_oHDsLc76EzXQ


7. In peas, a pure tall plant (TT) is crossed with

a short plant(tt). The ratio of pure tall plants

to short plants in  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

F2

1: 3

3: 1

1: 1

2: 1

https://dl.doubtnut.com/l/_oHDsLc76EzXQ
https://dl.doubtnut.com/l/_ogFMTpzb8070


8. The two versions of a trait (character) which

are brought in by the male and female

gametes are situated on :

A. copies of the same chromosome

B. sex chromosomes

C. two di�erent chromosomes

D. any chromosomes

Answer:

https://dl.doubtnut.com/l/_ogFMTpzb8070
https://dl.doubtnut.com/l/_Sc5ICXNml54G


Watch Video Solution

9. Select the statements that describe

characteristics of genes : 

(i) genes are speci�c sequence of bases in a

DNA molecule 

(ii) a gene does not code for proteins 

(iii) in individuals of a given species, a speci�c

gene is located on a particular chromosome 

(iv) each chromosome has only one gene

A. (i) and (ii)

https://dl.doubtnut.com/l/_Sc5ICXNml54G
https://dl.doubtnut.com/l/_CHVXbuCzvYDI


B. (i) and (iii)

C. (i) and (iv)

D. (ii) and (iv)

Answer:

Watch Video Solution

10. Select the group which shares the

maximum number of common characters :

A. two individuals of a species

https://dl.doubtnut.com/l/_CHVXbuCzvYDI
https://dl.doubtnut.com/l/_5NsSqUMGODwA


B. two species of a genus

C. two genera of a family

D. two genera of two families

Answer:

Watch Video Solution

11. A trait in an organism is in�uenced by

A. paternal DNA only

B. maternal DNA only

https://dl.doubtnut.com/l/_5NsSqUMGODwA
https://dl.doubtnut.com/l/_QOE4zKVEaewI


C. both maternal and paternal DNA

D. neither by paternal nor by maternal

DNA.

Answer:

Watch Video Solution

12. In human males all the chromosomes are

paired perfectly except one. This/these

unpaired chromosomes is/are : 

https://dl.doubtnut.com/l/_QOE4zKVEaewI
https://dl.doubtnut.com/l/_QglrahKD5T4i


(i) large chromosome (ii) small chromosome

(iii) Y chromosome (iv) X chromosome

A. (i) and (ii)

B. (iii) only

C. (iii) and (iv)

D. (ii) and (iv)

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_QglrahKD5T4i


13. A person �rst crossed pure-bred pea plants

having round-yellow seeds with pure-bred pea

plants having wrinkled-green seeds and found

that only A-B type of seeds were produced in

the  generation. When  generation pea

plants having A-B type of seeds were cross-

bred by self-pollination, then in addition to

the original round-yellow and wrinkled-green

seeds, two new varieties A-D and C-B type of

seeds were also obtained. 

(a) What are A-B type of seeds ? 

(b) State whether A and B are dominant traits

F1 F1

https://dl.doubtnut.com/l/_H3wyEVjcnWvY


or recessive traits. 

(c) What are A-D type of seeds ? 

(d) What are C-B type of seeds ? 

(e) Out of A-B and A-D types of seeds, which

one will be produced in (i) minimum numbers,

and (ii) maximum numbers, in the 

generation ?

Watch Video Solution

F2

14. A person �rst crossed pure-bred pea plants

having round-yellow seeds with pure-bred pea

https://dl.doubtnut.com/l/_H3wyEVjcnWvY
https://dl.doubtnut.com/l/_XimEpzcS391k


plants having wrinkled-green seeds and found

that only A-B type of seeds were produced in

the  generation. When  generation pea

plants having A-B type of seeds were cross-

bred by self-pollination, then in addition to

the original round-yellow and wrinkled-green

seeds, two new varieties A-D and C-B type of

seeds were also obtained. 

(a) What are A-B type of seeds ? 

(b) State whether A and B are dominant traits

or recessive traits. 

(c) What are A-D type of seeds ? 

(d) What are C-B type of seeds ? 

F1 F1

https://dl.doubtnut.com/l/_XimEpzcS391k


(e) Out of A-B and A-D types of seeds, which

one will be produced in (i) minimum numbers,

and (ii) maximum numbers, in the 

generation ?

Watch Video Solution

F2

15. A person �rst crossed pure-bred pea plants

having round-yellow seeds with pure-bred pea

plants having wrinkled-green seeds and found

that only A-B type of seeds were produced in

the  generation. When  generation peaF1 F1

https://dl.doubtnut.com/l/_XimEpzcS391k
https://dl.doubtnut.com/l/_rf64thdUYgRH


plants having A-B type of seeds were cross-

bred by self-pollination, then in addition to

the original round-yellow and wrinkled-green

seeds, two new varieties A-D and C-B type of

seeds were also obtained. 

(a) What are A-B type of seeds ? 

(b) State whether A and B are dominant traits

or recessive traits. 

(c) What are A-D type of seeds ? 

(d) What are C-B type of seeds ? 

(e) Out of A-B and A-D types of seeds, which

one will be produced in (i) minimum numbers,

https://dl.doubtnut.com/l/_rf64thdUYgRH


and (ii) maximum numbers, in the 

generation ?

Watch Video Solution

F2

16. A person �rst crossed pure-bred pea plants

having round-yellow seeds with pure-bred pea

plants having wrinkled-green seeds and found

that only A-B type of seeds were produced in

the  generation. When  generation pea

plants having A-B type of seeds were cross-

bred by self-pollination, then in addition to

F1 F1

https://dl.doubtnut.com/l/_rf64thdUYgRH
https://dl.doubtnut.com/l/_NF3WhTdCVTF2


the original round-yellow and wrinkled-green

seeds, two new varieties A-D and C-B type of

seeds were also obtained. 

(a) What are A-B type of seeds ? 

(b) State whether A and B are dominant traits

or recessive traits. 

(c) What are A-D type of seeds ? 

(d) What are C-B type of seeds ? 

(e) Out of A-B and A-D types of seeds, which

one will be produced in (i) minimum numbers,

and (ii) maximum numbers, in the 

generation ?

Watch Video Solution

F2

https://dl.doubtnut.com/l/_NF3WhTdCVTF2


17. A person �rst crossed pure-bred pea plants

having round-yellow seeds with pure-bred pea

plants having wrinkled-green seeds and found

that only A-B type of seeds were produced in

the  generation. When  generation pea

plants having A-B type of seeds were cross-

bred by self-pollination, then in addition to

the original round-yellow and wrinkled-green

seeds, two new varieties A-D and C-B type of

seeds were also obtained. 

(a) What are A-B type of seeds ? 

F1 F1

https://dl.doubtnut.com/l/_NF3WhTdCVTF2
https://dl.doubtnut.com/l/_eFknFsKpspuy


(b) State whether A and B are dominant traits

or recessive traits. 

(c) What are A-D type of seeds ? 

(d) What are C-B type of seeds ? 

(e) Out of A-B and A-D types of seeds, which

one will be produced in (i) minimum numbers,

and (ii) maximum numbers, in the 

generation ?

Watch Video Solution

F2

https://dl.doubtnut.com/l/_eFknFsKpspuy


18. The person A has only B chromosomes in

all its gametes. On the other hand, another

person C has chromosome D in half of

gametes and chromosome E in the other half

of gametes. When chromosomes B and D

combine during fertilisation, a female zygote

results. On the other hand, combination of B

and E chromosomes produces a male zygote. 

(a) What are chromosomes (i) B (ii) D, and (iii)

E ? 

(b) Out of B, D and E, which two chromosomes

are of the same type ? 

https://dl.doubtnut.com/l/_qKJpY4Iys38x


(c) Which chromosome is smaller in size ? 

(d) What is the general name of chromosomes

such as B and E ? 

(e) Out of the two persons A and C, which one

is (i) male, and (ii) female ?

Watch Video Solution

19. The person A has only B chromosomes in

all its gametes. On the other hand, another

person C has chromosome D in half of

gametes and chromosome E in the other half

https://dl.doubtnut.com/l/_qKJpY4Iys38x
https://dl.doubtnut.com/l/_lfQrWPAzSW8g


of gametes. When chromosomes B and D

combine during fertilisation, a female zygote

results. On the other hand, combination of B

and E chromosomes produces a male zygote. 

(a) What are chromosomes (i) B (ii) D, and (iii)

E ? 

(b) Out of B, D and E, which two chromosomes

are of the same type ? 

(c) Which chromosome is smaller in size ? 

(d) What is the general name of chromosomes

such as B and E ? 

(e) Out of the two persons A and C, which one

is (i) male, and (ii) female ?

https://dl.doubtnut.com/l/_lfQrWPAzSW8g


Watch Video Solution

20. The person A has only B chromosomes in

all its gametes. On the other hand, another

person C has chromosome D in half of

gametes and chromosome E in the other half

of gametes. When chromosomes B and D

combine during fertilisation, a female zygote

results. On the other hand, combination of B

and E chromosomes produces a male zygote. 

(a) What are chromosomes (i) B (ii) D, and (iii)

E ? 

https://dl.doubtnut.com/l/_lfQrWPAzSW8g
https://dl.doubtnut.com/l/_wV7Hk4o3EEzy


(b) Out of B, D and E, which two chromosomes

are of the same type ? 

(c) Which chromosome is smaller in size ? 

(d) What is the general name of chromosomes

such as B and E ? 

(e) Out of the two persons A and C, which one

is (i) male, and (ii) female ?

Watch Video Solution

21. The person A has only B chromosomes in

all its gametes. On the other hand, another

https://dl.doubtnut.com/l/_wV7Hk4o3EEzy
https://dl.doubtnut.com/l/_yiWXTIlyjUvF


person C has chromosome D in half of

gametes and chromosome E in the other half

of gametes. When chromosomes B and D

combine during fertilisation, a female zygote

results. On the other hand, combination of B

and E chromosomes produces a male zygote. 

(a) What are chromosomes (i) B (ii) D, and (iii)

E ? 

(b) Out of B, D and E, which two chromosomes

are of the same type ? 

(c) Which chromosome is smaller in size ? 

(d) What is the general name of chromosomes

such as B and E ? 

https://dl.doubtnut.com/l/_yiWXTIlyjUvF


(e) Out of the two persons A and C, which one

is (i) male, and (ii) female ?

Watch Video Solution

22. The person A has only B chromosomes in

all its gametes. On the other hand, another

person C has chromosome D in half of

gametes and chromosome E in the other half

of gametes. When chromosomes B and D

combine during fertilisation, a female zygote

results. On the other hand, combination of B

https://dl.doubtnut.com/l/_yiWXTIlyjUvF
https://dl.doubtnut.com/l/_Rx8hEVon8mpI


and E chromosomes produces a male zygote. 

(a) What are chromosomes (i) B (ii) D, and (iii)

E ? 

(b) Out of B, D and E, which two chromosomes

are of the same type ? 

(c) Which chromosome is smaller in size ? 

(d) What is the general name of chromosomes

such as B and E ? 

(e) Out of the two persons A and C, which one

is (i) male, and (ii) female ?

Watch Video Solution

https://dl.doubtnut.com/l/_Rx8hEVon8mpI
https://dl.doubtnut.com/l/_3zsaM60cEtEJ


23. Mendel �rst crossed pure-bred pea plants

having round-yellow seeds with pure-bred pea

plants having wrinkled-green seeds and found

that only round-yellow seeds were produced in

the  generation. When F generation pea

plants having round-yellow seeds were cross-

bred by self pollination, then peas having

round- yellow seeds, round green seeds,

wrinkled-yellow seeds and wrinkled-green

seeds were produced. Mendel collected a total

of 2160 seeds. 

What will be the number of (i) round green

F1

https://dl.doubtnut.com/l/_3zsaM60cEtEJ


seeds (ii) wrinkled green seeds (iii) round

yellow seeds, and (iv) wrinkled-yellowseeds?

Watch Video Solution

24. Mendel �rst crossed pure-bred pea plants

having round-yellow seeds with pure-bred pea

plants having wrinkled-green seeds and found

that only round-yellow seeds were produced in

the  generation. When F generation pea

plants having round-yellow seeds were cross-

bred by self pollination, then peas having

F1

https://dl.doubtnut.com/l/_3zsaM60cEtEJ
https://dl.doubtnut.com/l/_k9plQOjdkLi2


round- yellow seeds, round green seeds,

wrinkled-yellow seeds and wrinkled-green

seeds were produced. Mendel collected a total

of 2160 seeds. 

Which ‘ratio' as established by Mendel have

you made use of in answering the part (a)

above?

Watch Video Solution

25. Pure-bred round-yellow pea seeds have

genotype RRYY and the pure-bred wrinkled-

https://dl.doubtnut.com/l/_k9plQOjdkLi2
https://dl.doubtnut.com/l/_7VSXrbISwqt2


green pea seeds have genotype rryy. Keeping

this in mind, write the phenotypes of the

following genotypes of hybrid pea seeds : 

(a) Rryy (b) rrYy (c) rrYY (d) RrYy (e) RRyy

Watch Video Solution

26. The organs which perform di�erent

functions but have the same basic structure

are known as :

A. homologous organs

https://dl.doubtnut.com/l/_7VSXrbISwqt2
https://dl.doubtnut.com/l/_ExDbu7eiS2o7


B. analogous organs

C. homolytic organs

D. analytic organs

Answer:

Watch Video Solution

27. The organs which perform similar functions

but have di�erent basic structure are called :

A. asymmetric organs

https://dl.doubtnut.com/l/_ExDbu7eiS2o7
https://dl.doubtnut.com/l/_nrgIqa3n7nve


B. analogous organs

C. homologous organs

D. homophonic organs

Answer:

Watch Video Solution

28. Wing of an insect and forelimb of a bird

are :

A. analogous organs

https://dl.doubtnut.com/l/_nrgIqa3n7nve
https://dl.doubtnut.com/l/_kxlCSXWNX48b


B. analeptic organs

C. homologous organs

D. homophobic organs

Answer:

Watch Video Solution

29. If the fossil of an organism is found in the

deeper layer of earth, then we can predict that

https://dl.doubtnut.com/l/_kxlCSXWNX48b
https://dl.doubtnut.com/l/_ZYo1DNlOHFSZ


A. the extinction of organism has occurred

recently

B. the extinction of organism has occurred

thousands of years ago

C. the fossil position in the layers of earth

is not related to its time of extinction

D. time of extinction cannot be determined

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_ZYo1DNlOHFSZ
https://dl.doubtnut.com/l/_NvR30jUCvtGn


30. The presence of which of the following

types of organs in two animals indicates that

they are not derived from a common ancestor

?

A. homologous organs

B. excretory organs

C. analogous organs

D. reproductive organs

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_NvR30jUCvtGn


31. The presence of which of the following

types of organs in two organisms indicates

that they are derived from the same ancestor

?

A. analogous organs

B. respiratory organs

C. digestive organs

D. homologous organs

Answer:

https://dl.doubtnut.com/l/_NvR30jUCvtGn
https://dl.doubtnut.com/l/_qLmSlaDOFaEt


Watch Video Solution

32. One of the following has not been

produced from wild cabbage by the process of

arti�cial selection. This one is :

A. kohlrabi

B. cabbage

C. spinach

D. kale

Answer:

https://dl.doubtnut.com/l/_qLmSlaDOFaEt
https://dl.doubtnut.com/l/_3TTQUnnEKSvo


Watch Video Solution

33. The fossil trilobite was originally :

A. an arthropod

B. an invertebrate

C. a reptile

D. an ave

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_3TTQUnnEKSvo
https://dl.doubtnut.com/l/_aC0KBSClPygu


34. One pair of organs in the following animals

are not homologous. This is :

A. forelimbs in humans and lizard

B. forelimbs in lizard and frog

C. wings in butter�y and bat

D. wings in bat and bird

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_aC0KBSClPygu
https://dl.doubtnut.com/l/_JsViC9u0gNhq



